RCF27 SERIES SINGLE SPINDLE
ROTARY CUTTERS

Horsepower

Hitch

Working Width

. Overall Width

Roundback with a Smooth Top.

The RCF27 Series Rotary Cutter is a smooth top Weight - Ib (kg)
version of our RCR26 Series, offering the same great

Overall Length

cut and is ideal for grass, weeds, crops, brush, and Cutting Height
small trees up to 3 inches in diameter. These units Cutting Capacity
come equipped standard with a 3/16" thick heavy-duty Deck
stump jumper and replaceable bolt-on skid shoes. Deck Thickness
) Deck Height
- Smooth top design eckrien
Side Thickness
+ All welded deck
Safety Guards
« Clevis style lower hitch i
- Floating top hitch Blades
« 84" Pull-type model available
. . Blade Bolt
- Dual wheels optional on 3-Point 84"
model, Standard on Pull-Type Blade Tip Speed
Dishpan
Gearbox Rating”
Gearbox
Gearbox Output Shaft
Replaceable bolt-on skid Optional shields are The laminated tailwheel Driveline
sh'oes provide sidewall available for the front and is long lasting in rough Tailwheel(s)
reinforcement and rear to protect against conditions and 1-1/2" heavy-
protection to the bottom flying debris. duty spindle protects the Colors
of sidewall. assembly.

*See dealer for complete warranty information. “Based on field performance.

S

HP REQUIRED CUTTING CAPACITY HITCH

=

35-130 HP 3" Cat.1,2&3

¥ g Pl e ;
m RCF2772 RCF2784
35-130 HP 60-130 HP
Cat.1&2 Cat. 2 & 3, Pull-Type

60" (152) 72(183) 84(213)
67" 79" 89"
109" 121:3/4"  Single 132.5", Dual 130"
1,354 (614),

955(433)  1072(4868) |y pone 1632 (740)

112" -12"
3" Diameter
All Welded, Smooth Top
10 Gauge
1-1/4" 10-1/8"
4"
Front: Chain or Rubber, Rear: Chain
Replaceable

Free Swinging High Suction,
12" x 4" - Heat Treated

Keyed with Hardened,

Flat Washer & Lock Nut
12,384 fpm 14,861 fpm 14,369 fpm
" " 3/16" x
R3cf L6n J ;i‘;h 3042" 316" x 24" x 38" Oval,
Sha ‘ed Round, Dish Dish Shaped
P Shaped
130 HP
540 RPM
1-3/8" - 6 Spline
o

Cat. 4 with 4 Plate Slip-Clutch

15" Laminated, w/Cast Iron Hub,
Tapered Roller Bearings

QuickHirc
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